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1. For acute angles P and Q ,  
12

sin
13

P =  and 
3

sin
5

Q = . 

 Show that the exact value of  sin( )P Q+   is 
63

65
     (3) 

 

 

2. If 
4

cos , 0
5 2

π
θ θ= ≤ <  find the exact value of   sin 4θ     (3) 

 

 

 

 

3. Find exact solutions of the equation  

 

   
24sin 1, 0 2x x π= ≤ <        (4) 

 

 

 

 

4. Solve algebraically the equation 

 

   cos2 5cos 2 0, 0 360x x x°+ °− = ≤ <     (5) 

 

 

 

 

5. Solve algebraically the equation 

 

   sin 2 sin 0, 0 360x x x°+ ° = ≤ <      (5) 

 

               

          TOTAL (20) 

 


